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\begin{eqgnarray*}
1+2-3 \times 4 \div 5 = 0
\end{eqnarray*}
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x~{k_{ij}}
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\sum_{k=1}"5 a_k = a_1 + a_2 + \dots + a_b
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\int_{0}~{\pi/2}\sin x dx=\int_{0}~{\pi/2}\cos x dx=1
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x=\frac{-b \pm \sqrt{b~2-4ac}}{2a}

O000000000000000000ON\sqrt{...} 000000
EKpgXoooobobobobooooooooboooboboooooooo
ggbbobooooboogan

C
at ! (1)
Co
by +
by +

C3
by +---
\fracUOOOOOODOOOOONcfracOODOOOO0O0OO

5 Uogg

o0ooboboboobooob0ob0obboob0obUobo0eoboboobDOoD
goooooboobobosbbObOOOOOODOD 200000000
goooobboooobbbooobbobooooboo

\vecq{a}

gobbobuooobbboooobobuoooobobon
gbobobooboboboboboboobobooboboobobob
ggbbobuoooobbbouoooobbbooobboobbobbod

\usepackage{bm}
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\begin{matrix} a & b \\ ¢ & d \end{matrix} ¢ J
c

\begin{pmatrix} a & b \\ ¢ & d \end{pmatrix} (
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\begin{bmatrix} a & b \\ ¢ & d \end{bmatrix}
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\begin{vmatrix} a & b \\ ¢ & d \end{vmatrix}
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\bm{I} = \begin{bmatrix}
1 &0 & 0\\
0 & 1 & 0 \\
0 & 0 & 1 \\
\end{bmatrix}
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